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ln (yi) =  ln (a) + bxi Yi =  A + bxi

•

•

•

•

ln(yi ) =  ln(a) +  b ln(xi ) Yi =  A + bXi
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Yi =  A + BXi

yi =
axi
b+ xi

1
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c =  aqb

q  =  K c( )n

y =  axb

y =  a0 +  a1x +  a2x2

Q =  a0  +  a1H +  a2H 2
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x y Log(x) Log(y) 

1.2 2.1 0.18 0.74 
2.8 11.5 1.03 2.44 
4.3 28.1 1.46 3.34 
5.4 41.9 1.69 3.74 
6.8 72.3 1.92 4.28 
7.9 91.4 2.07 4.52 
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